
Q1) Attempt any five of the following : [5 × 2 = 10]

a) Define defence management.

b) Define armed forces.

c) What is logistic management?

d) What is decision making?

e) Define logistics.

f) Define non military organization.

Q2) Attempt any four of the following : [4 × 5 = 20]

a) Logistic management

b) Decision making

c) Ministry of defence

d) Military organization

e) Defence

Total No. of Questions : 4]

[Total No. of Pages : 4

[5952]-615
T.Y. B.Com.

365 (J) : DEFENCE BUDGETING, FINANCE &
MANAGEMENT (Special Paper - II)

(2019 Pattern) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-1870

SEAT No. :

P.T.O.



[5952]-615 2

Q3) Attempt any four of the following : [4 × 5 = 20]

a) State the principles of non military organization.

b) State the principles of military organization.

c) Explain types of military organization.

d) Explain decision making process of Indian armed forces.

e) Explain Nature and scope of Defence management.

Q4) Attempt any two of the following : [2 × 10 = 20]

a) Explain in detail problems of defence production in India.

b) Explain in detail the significance and historical evolution of Indian
defence logistic management.

c) Explain in detail scope of logistics management in Indian armed forces.
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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5 × 2 = 10]

A) g§ajU ì`dñWmnZ ì`m»`m H$am.

~) goZmXbo ì`m»`m H$am.

H$) nwadR>m ì`dñWmnZ åhUOo H$m`?

S>) {ZU©̀  à{H«$`m åhUOo H$m`?

B) nwadR>m ì`m»`m H$am.

\$) {~Ja bîH$ar g§KQ>Zm ì`m»`m H$am.

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) nwadR>m ì`dñWmnZ

~) {ZU©` à{H«$`m

H$) g§ajU _§Ìmb`

S>) g§ajU g§KQ>Zm

B) g§ajU
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]

A) {~Ja bîH$ar g§KQ>ZoMr _wbVËdo gm§Jm.

~) bîH$ar g§KQ>ZoMr _wbVËdo gm§Jm.

H$) bîH$ar g§KQ>ZoMo àH$ma ñnï> H$am.

S>) ^maVr` goZmXbmVrb {ZU©̀  à{H«$`m ñnï> H$am.

B) g§ajU ì`dñWmnZmMo ñdê$n Am{U ì`már ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2 × 10 = 20]

A) g§ajU CËnmXZmVrb g_ñ`m g{dñVa ñnï> H$am.

~) ^maVr` g§ajU nwadR>m ì`dñWmnZmMo _hÎd Am{U Eo{Vhm{gH$ g§X^m©Mo g{dñVa ñnï> H$am.

H$) ^maVr` goZmXbmVrb nwadR>m ì`dñWmnZmMr ì`már g{dñVa ñnï> H$am.




